05785-05 Kk FERNRERH | F EKEHM A @ EH

7= miiEA

ME
Mo

g -
MEEE
it R F R,

BR
05785-01000, 05785-02500 F1 05785-03200 MK BEMAE —NE T KL
E,

M -
05240
05241
05260
05885-01
05887-01
05888
05280
05891-01

s 2

==f—)

05785-05-01000 1 96° 78° 50 500 1000 250 600

05785-05-02500 2 93° 76° 150 1200 2500 400 1000
05785-05-03200 3 90° 65° 150 2000 3200 800 1600
05785-05-03400 2 90° 72° 200 1400 3400 800 1900
05785-05-05400 2 94° 76° 250 2400 5400 1100 3000

© norelem www.norelem.com



05785-05 Kk FERNRERH | F EKEHM A @ EH

05785-05-06400

1

05785-05-01000 4 110 M5x35
05785-05-02500 26 - 5 1 1 2 38 2 65 4173 40 6 M6x50
05785-05-03200 25,4 38 208 | - 12 6 14,7 8,7 48,3 12,7 6,4 6,7 61 | 173 71,6 39,1 M8x63
05785-05-03400 26 |42 - 25|12 6 15 86 | 497|175 | 105 |66 | 822 |225| 79 | 52,7 M8x60
05785-05-05400 41,2 | 59 - 2 |16/ 8 194 | 115|638 | 23 10 |8,7| 109 | 277 | 108 | 79,5 M10x80
05785-05-06400 41,2 | 66 - - 120110 232 | 13,7 | 796 | 26 | 12,9 |8,7| 131 | 308 | 128 | 93,5 M12x100

© norelem www.norelem.com



